SH3FERIRKRETESTAKBERAR X5
202146765
amp | 1 EBEZN | 2wk s | 3 LB KB |4 LB BT
som  |REEKKBRA —m{ KEAKBRA —f| KEACKBRA —@| KEAKBRA —
25.47 25.64 26.74 28.29
wax | 1 B KE |2 BhK
som  |REKKBRA —| KEAKIBRA —fi
32.31 32.75
x| 1 ME S |2 LB k& |3 BE
som | REAKBRA —|KEACKBEA —| KEAKBRA —
33.15 33.78 35.60
jaosq |1 EBEZA | 2wk 48 |3 BE R |4 LB AE |5 RB WK |6 ME SE
Som  |REKKBRA —| KEAKIBRA —| KEACKBRA | KEAKBRA — KEAKIBRA —| KEAKHRA —
= 26.85| K&HT 27.51 30.10 30.35 31.00 33.84
x| 1 WE KA
100m | REAKBRA —

1:05.18




il

SH3FEHLIRIKREHETKAFE AR REF

20214686H
i 1 OBEKER |2 EE HE |3 O B4 A BE |5 NE B |6 £ EI |7 #E B |s B B
som  |EEE =3 |EnE =1 |ERERS o3 |ENE S3|ERESRS o2 |ERESRS | 53|BEE EAE ) 53
KEH 24.01 24.77 25.15 26.57 26.63 21.22 27.78 28.50
. I BEkER |2 BA BEA |3 EE BEE |4 I B |5 AM BB |6 B HK |7 RE B |8 FEEAS
100m  |EES =3|BES E0 | 1 |ERERS o3 |ENE 23| EREERS 53 |EREES  =2|Ens =1
KEFH 51.99 54.82 54.99 55.06 58.44 58.563 58.82 59.92
i 7 OBEAER |2 BA BA |3 £A B4 A BK |5 NE B |6 =M =E
soom  |EEE =3|BEs =2 e 3| ERERS  S3|ERERS o2 |ERESRS 53
KEH 1:53.69 1:59.52 2:08.70 2:09.22 2:09.42 2:24.29
I I %K BE | 2 Ee HE | 3 BB BE |4 BE PR | 5 IE B
som  |EEERE B3NS =1 |meE o0 | XY H1
=F 26.91 29.58 31.14 31.76 35.23
LoE 7 TR 5y 2 FF AKER
l0om  |BEE 1 |ERESES 51
1:04.38 1:12.30
— 7 B h¥ |2 BE BR |3 BLU A | 4 LB BE |5 B B
som  |EREERE  m2|meE Z3|ERERS ol |ENS =3|BEE =R
32.20 33.22 33.55 34.25 35.07
o 1 B hI | 2 =L EBE |3 RL B | 4 & B |5 BE BR
loom |EBEES w2 lEuE Sl |ERESS  S1|BES =2 | B 53
1:10.68 1:12.14 1:13.88 1:16.79 1:16.80
jaosq |1 BK BF |2 S EE |3 8% PR (4 B KB |5 IE BC |6 BE =
som  |ERMERE =3 (EmEEs S3|EuE =3 | =0 |t =1 |EREERS =3
=F 25.71 28.27 28.48 31.49 32.42 33.05
jxgsq |1 BK BT |2 mE EX |3 =% RE |4 Bl HE |5 8K DA |6 PEEAS | 7 EE B | 5 IF AKX
lom |EBEES  m3(EsE Z2 | ERERS o3 |ENE =1 e 53| BEE =1|BEs 2 |ERESES =3
=HT 55.84 1:00.59 1:00.66 1:02.41 1:03.04 1:04.05 1:05.63 1:06.82
EAXFL_| 1 Bl HE |2 #B Nk |5 LB @K |4 BR W |5 R BY |6 I RE |7 MK B | s I BL
l00m  |EES =1 |ERERS o2 |Enes =3\ B =1 |ERERS  =3|ENE =3 | =1 | B1
1:05.23 1:05.37 1:06.92 1:07.06 1:08.70 1:09.43 1:11.43 1:15.64
EAxFL_| 1 ®I O ® 2z LE EX |3 R &
soom  |EEEERE  m3|ENE S3|ERESRS 53
2:19.27 2:25.17 2:30.28
1 EsA | 2 EmEgsAl 3 BEs 4 EEBHESB| 5 EHESB
i (AE HA BE A EX ®E N Bl AWK
b= Ik = NP RIS AL =@ BE BE DA
200m Bl HE WiEE 18 R K 5 = WA E%
BiEkER w) 2 & =W hEE s K’
=F 1:39.92| k=¥ 1:39.97 1:46.09 1:49.08 1:50.40
(FE—kE) 24 T4 | K3 23.78 24.92 26.96 28.56
7 EBBHSEA| 2 EMSA | 3 BES 4 HEMEB | 5 EREHSS
XFL—1 HA BT EERGER =R W s K’ FRE &
L wE HiR WE B BE BR Ik HE Al %d
200m = 4R BE DA £E Bih gl == BE =3t
) B e fhE ME EX Bl AR NP
REFH 1:51.11 1:52.85 1:56.61 2:06.26 2:07.10
(F—ix#) S 26.75 27.63 30.07 35.81 34.72




SH3FERIRKRETESTAKBERAR

BRET

20214656 H
& Y 1 NEREE | 2 &L BE | 3 fE4K E
som | =1|EMS =3\ S 53
29.80 31.37 33.30
o 1 NEREEE | 2 EEHES | 3 4k Z
100m  |EEREE =1 |ERERE @ |Ens =3
1:03.70 1:09.75 1:10.54
. 1 NEEEE
soom  |EERGE 51
2:16.70
. 7 FE OB |2 &L BH | 3 ALRET
som  |EEREE =1 S =3 |ERERE =2
36.09 37.42 38.37
.- 1 EEB®S | 2 &L &%
lom  |EEEEE sz 53
1:18.24 1:20.68
- 7 L0 %A
som  |EBEEE @3
35.76
T 7 L0 %A
lom  |EBEEE @3
1:17.53
jaosq |1 9N EE| 2 mERE | 5 ik B
som  |EBEEE  mo|Eus =1 S &3
30.21 32.90 35.71
rjamsq | 1 PN EE
om  |EBEERE @2
1:07.02
EAx FL—| 1 WO %A |2 FE BR[| 3 ®IEnE
1om  |EEEEE  m3EwE =1 S 51
1:12.17 1:13.67 1:15.11
EAx FL_| 1 TE BE |z @IEni
soom  |HEREE B1|EwE &1
2:38.45 2:38.66
1 e | 2 Ensss
2l EFE Lo ®A
b= FE BT MLPET
200m )R EHHES
INERES I
2:00.77 2:03.83
(BB—ik#) 31.30 29.99
7 ERBRERS | 2 ENS
X RL— MUPET NEEEE
Lo W BEA )T
200m = FE BT
EEHRS gl B
2:14.10 2:14.60
(FB—ik#) 37.96 33.56




SH3FERIRKRETESTAKBERAR

hEBEF

20214686H
. 7 HBEmEBEC |2 ®E EM | 3 ) BE | 4 RBAHES | 5 B £E | 6 BB TF | 7 NMEAIHE | 8§ EBRAH
som | w2 | KgEEE d2 | FiaE 2 [ FiAE 2 [ KgE—rh VBN 2 [ KEE—rh 1 |Her F1
26.93 27.41 27.55 27.64 28.05 29.07 29.21 29.51
. 7 M —® |2 B ¥ | 3 mmAME | 4 ) BE |5 B 8 | 6 LBmASM | 7 geAkHmE |8 52 BEL
l0om  |REESEE b3 | FIAF b3 | FIAT 2 [FIAF 2 [KgE—r 2 [Fepah E BN 2 [Fepah 2
59.18 59.74 59.76 59.89 1:03.42 1:04.88 1:07.82 1:08.28
. 7 RMAME | 2 W)l BE |3 hlE 3 | 4 B —8 | 5 RTEAH | 6 BE BK | 7 HAABE | 8 £A B
soom | TIIAS 2 | FiaE 2 | FiAE 3 | KeEsEF 3 |Hp BN 3 [ AeEsE o [ KeEsE F1
2:07.11 2:07.79 2:09.25 2:09.78 2:17.54 2:17.77 2:30.65 2:48.39
. 7 BE HES |2 &L R|s um BE| 4 LW BE |5 BB BE |6 HBE FF | 7 AN BE | g i)mEml
som | RE—E A 3 [ KgE—rF 2 [KgE—r h3|FIAF 3 [ KgEEEF 2 [Py 3 [ KEE—r 2
29.85 32.62 32.66 32.81 33.99 35.65 37.82 37.83
iy 7 BlE |2 BA B8 |3 LN BE |4 &L R |5 BB F¥ |6 BE ERE | 7 wIEHS | 8 EE =Y
100m | KE—F 2 | FiaE 3| KBE—r w3 |JLhs 3 |Hp VBN 2 [ KEE—rh 2 Fepyeh F2
1:09.29 1:11.40 1:11.67 1:11.73 1:13.29 1:16.06 1:24.31 1:39.77
— 7k BK | 2 tAAFE |5 zREEC |4 MM mE |5 BE KK |6 B Bk | 7 FE |8 BE B
som | T/ATE 2 [Jfgh th3 | KgEEEF 2 [KgE—rF 1 |Egh tho [KgE—r 2 [Hekg 3 [ KEE—r 2
33.92 34.66 35.39 38.02 40.62 41.10 41.84 43.31
T 7 Ak EA | 2 %@ —& | 3 te4AH 4 AR B | 5 REAmER | s BE K | 7 B BX | 8§ BE A=
100m | FIAE 2 | KeEEEF 3 [ JfgR 3| AgE—r 1 [Hepy R th1 | 2 [ KEE—rh 2 [ KEE—rh 2
1:12.45 1:16.29 1:17.42 1:21.07 1:25.78 1:26.47 1:29.83 1:36.55
jagsq |1 B BK |2z #E S |3 RE ¥E | 4 MESEE |5 BN KE (6 BRE WK |7 R BC s BR AX
som | REESEE 3 | KgE—r 3 |EREER 2| kfE—h EEN o [KgE—rF w2 [P 2 [Hehg 2
30.22 30.41 30.92 31.69 32.72 33.25 33.54 33.83
Naosq |1 FB O | 2 HWE RS |3 RE BK |4 MHSEE |5 RE ¥ 6 BN KK |7 RE AR |5 BE BK
100m | FIAE 3 | KgE—e 3| AgEsEF 3| KgE—r EEL T TIPS =G 2 [ KEE—rh h2|dEBe F2
1:04.70 1:06.64 1:07.77 1:09.66 1:10.46 1:10.68 1:14.99 1:17.55
EAxFL_| 1 BB EA|2 HE EM |5 @8 S|4 LM BB |5 RR WK |6 P OKF |7 =% Bd | s A% AT
100m  |KE—F BN 2 [KgE—rF 3 [ KgE—rF 3 [tepy tho [KeEsEF o [KgE—r 3 [tepy +3
1:07.97 1:11.24 1:11.48 1:13.88 1:14.54 1:15.30 1:19.06 1:21.34
EAXFL_| 1 BE ES |2z Lk EX |3 RRERC |4 RR WK |5 P KT |6 BN K |7 RABAE | s Bt RE
soom  |RE— d1|FiAE 2 | KeEsEF 2 [Hepy R 2 | KeEsEF o [ KeEsE 2 [tepy R 1| KBE—r F2
2:24.98 2:27.87 2:37.50 2:39.14 2:41.64 2:45.31 2:45.75 2:56.26
1 KEHEHA | 2 TFIA® | 3 AmE—HC | 4 HABA | 5 AmEEREB | 6 KE—FB | 7 itk §  KEE—hA
HREEC RE A WA = B N HE B EE AE FE B MEAEE
Ub— *m —F ME e BE R RIR Tl FE AHF SR —E WA B BE M
200m e PN i)l EE iy EiE 8B A A i) 1| 2Bt 4 AHE HE Hat
HE B T 8 B R 1 REERR LN B gl R B2 HE
1:47.54 1:49.93 1:52.50 2:00.91 2:01.76 2:11.54 2:15.98 2:17.51
(FE—ikE) 26.94 27.46 27.05 30.10 29.46 36.37 32.22 28.98
7 THAE | 2 KEEEFRA | 3 KE—HA | 4 ke 5 HATmA | 6 KEEE=TB | 7 AEE—+B | 8 HHmHB
X FL—1y A BE HEEEC RE =9 gl R e HE B LN B B =5
L ITE-PN ¥m -5 N E k4 RHE EAmEH B KIF ) BA ST B
200m g # RA AK 2E EE fEE EK B N Mt A RE FR E RV
REAHEE A & it -5 FE B N e 1 4o RERRR s FE EREEARE
2:01.89 2:02.14 2:04.71 2:14.22 2:16.41 2:16.80 2:18.22 2:34.51
(B—pkE) 33.09 32.47 29.64 32.99 44.42 34.66 33.06 44.61




SH3FERIRKRETESTAKBERAR

h 47

20214656 H
et 7 hlg =|E |2 BR AoE | 3 #E 22 |4 IE BB |5 KT BT | 6 mEEAE | 7 B2 | 8 ANZOOD
N I 3 | KgEEE dl |[EEBRS 3| AfgE b3 |ERBES  1|dBE 3| 2 [{ M F3

29.49 30.03 31.28 33.57 34.49 36.73 37.21 41.58
o 7 g B|E | 2 BR A | 3 FE BT | 4 #EENE | 5 EBIES
100m | FIAE ERIEN s 1 | AgE—F w2 |4k 3|t H1
1:04.28 1:05.69 1:08.24 1:20.91 1:41.49
et 7 hlg =|F |2 LA BE |3 ®R O | 4 FE BF |5 KT EF
soom | A 3 | kgEEE 3| kg T 1| kEE—F 2 |EBERT B
2:17.82 2:20.71 2:26.39 2:26.62 2:43.13
. 7 B 2E |2 am EE| 3 AR | 4 TETHA
som  |EBEEE 3| T)lRd 3| LB+ 3 |ERERT Bl
34.94 36.12 44,76 46.76
Sk 1 OAN OB | 2 fE 22| 3 FB kx
l0om  |EEtEES 3 EBRERE o3| F3
1:13.41 1:15.31 1:18.41
- 7 W EBR | 2 &l HRE | 3 IE L | 4 HEbes | 5 EBIES
som |/l Bl e | K gEE 3 |Lm w1 |Hph #1
40.49 45.79 46.94 53.34 1:03.29
- 7o BR |2 Bl BR| 3 IE £ |4 FELeD
lom | FlAH N ECES 2 | KEEE T B3 |Lm T f1
1:28.14 1:40.36 1:41.78 1:49.88
jaosq |1 B BE |2 AM ER [ 5 AW BE |4 ERENE |5 REIAA (6 NE T
som | KESEE 3| H1 | FiaE 3| LB+ b3 |ERERT  h1|dtB® +3
31.41 31.98 36.07 41.87 43.77 43.95
jassq | 1 WE BE |2 kM ER |3 KB %
loom  |<EEE 3|t N EACES 3
1:09.84 1:12.15 1:35.16

AAx FL_| 1 A VB2 FE kR |3 Am EE

100m  |EERtEEE  3|ibme H3|FiaE 3
1:12.73 1:15.34 1:19.93
s pL_| 1 A 0|2 mE Rk |5 AWM B2
soom  |EBEHEES 3 lickd 3|t M1
2:35.17 2:39.24 2:40.25
7 EEMBEE | 2 dgE
A B [OE e
Y= FFE BT EREE
200m RETHN 2l BE
wE 2% WE —1E
2:15.92 2:22.26
(FB—ik#) 30.40 30.01
7 EEBEE | 2 At

XFL—1 wE 2 (S
L FE BT gl Bme
200m A B WE —1E

FETHN ERAEE
2:30.97 2:43.91
(FB—ik#) 34.80 36.83




